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𝐸𝐹 (𝑘𝑊ℎ ) =  
𝐷𝑒𝑓𝑎𝑢𝑙𝑡 𝐸𝐹 (𝑝𝑒𝑟 𝐼𝑃𝐶𝐶 2006)

𝑘𝑔
𝑇𝑗

277777,78 𝑘𝑊ℎ/𝑇𝐽

𝐸𝐹 (𝑘𝑔) =
𝐷𝑒𝑓𝑎𝑢𝑙𝑡 𝐸𝐹 (𝑝𝑒𝑟 𝐼𝑃𝐶𝐶 2006) 

𝑘𝑔
𝑇𝑗

 ) × (𝑁𝐶𝑉
𝑇𝑗
𝐺𝑔

)

1000000𝑘𝑔/𝐺𝑔

𝐶𝑂2 𝑒 = (𝐶𝑂2 × 1) + (𝐶𝐻4 × 28) + (𝑁2𝑂 × 265)
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http://www.ipcc-nggip.iges.or.jp/public/2006gl/pdf/2_Volume2/V2_2_Ch2_Stationary_Combustion.pdf
http://www.ipcc-nggip.iges.or.jp/public/2006gl/pdf/2_Volume2/V2_2_Ch2_Stationary_Combustion.pdf
http://www.ipcc-nggip.iges.or.jp/public/2006gl/pdf/1_Volume1/V1_3_Ch3_Uncertainties.pdf
http://www.ipcc-nggip.iges.or.jp/public/2006gl/pdf/1_Volume1/V1_3_Ch3_Uncertainties.pdf
https://www.ipcc-nggip.iges.or.jp/public/2006gl/pdf/3_Volume3/V3_7_Ch7_ODS_Substitutes.pdf
https://www.ipcc-nggip.iges.or.jp/public/2006gl/pdf/3_Volume3/V3_7_Ch7_ODS_Substitutes.pdf
https://www.gov.uk/government/publications/greenhouse-gas-reporting-conversion-factors-2017
https://www.ecoinvent.org/about/organisation/organisation.html
https://www.ipcc.ch/pdf/special-reports/sroc/sroc09.pdf
http://www.climatechange2013.org/
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